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Who was awarded the 2019 Nobel
Peace Prize for his efforts to. secure
peace treaty between Ethiopia and
Eritrea ?

(A) Yusufjai Malala
(B) Abiy Ahmed Ali
(C) Nelson Mandela
(D) Mohammed ‘Mo’ Tbrahim

World Health Organisation
designated the year 2020 as the year
of

(A) Nurse and Midwife

(B) Food Security

(C) Road Safety

(D) Universal Health Coverage

‘MANTI’ Appisa
(A) Mobile Aided Note Identifier

(B) Mobile Aided Network
Identifier

(C) Mobile Aided News Identifier
(D) None of these

‘LOSAR’ festival is celebrated to
mark the new year of which State or
Union Territory ?

(A) Manipur

(B) Mizoram

(C) Nagaland

(D) Ladakh

‘Samvidhan Divas’ is celebrated on
which date ?

(A) 26™ November
(B) 26™ December
(C) 26" January
(D) 26" July
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(A) 74 3R frganss
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What is ‘Sowa-Rigpa’ system ?

(A) An agricultural practice

(B) Tibetan traditional
system

medicine

(C) Traditional tribal wall painting

(D) Snow based water harvesting
system

Which administrative unit of

Puducherry Union Territory is
situated on western coast of India ?

(A) Puducherry
(B) Karaikal
(C) Yanam
(D) Mahe

Which Indian Film Actor has been
awarded Crystal Award, 2020 by

World Economic Forum for

spreading awareness about mental

health ?

(A) Aamir Khan

(B) Akshay Kumar
(C) Dipika Padukone
(D) Amitabh Bachhan

Gandhi Solar Park was inaugurated
by Prime Minister Narendra Modi in
the premises of which organisation
of United Nation ?

(A) UNESCO

(B) U.N. Headquarters
(C) ILMF.

(D) W.H.O.
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(A) II%H (UNESCO)

(B) HIH T HEATd

(C) 3E.WH.U%. (LM.F.)

(D) Y. T3.37. (W.H.0.)
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10.

11.

12.

13.

14.

The Central

Who is the first Indian women to win
a world title in motorsport event ?

(A) Aishwarya Pissay
(B) Alisha Abdullah
(C) Chithra Priya

(D) Sneha Sharma

Who was named as the captain of
Wisden Test Team of the decade ?

(A) M.S. Dhoni
(B) Virat Kohli
(C) Kumar Sangakara
(D) Steve Smith

‘Kalapani’ territorial dispute is
between India and which country ?

(A) Myanmar
(B) Bangladesh
(C) Nepal

(D) Bhutan

World’s first CNG port terminal will
be constructed at which place ?

(A) Vishakhapattanam
(B) Bhavnagar

(C) Kandla

(D) Paradeep

Government  has
approved renaming of which town
and railway station of Jharkhand as
Banshidhar Nagar ?

(A) Nagar Untari
(B) Latehar

(C) Garhwa

(D) Sahebganj
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14.

Arewead wut ¥ fova fgdre shaw arh
gt AR Afgen HA E ?

(A) Uyaei e

(B) 3T Ssgeet

(C) e forn

(D) Vg1 vmt

P v &l S A wam &
9 B Fifird o w2

(A) T.TE. gt

(B) fome wigeht

(C) R HTHI

(D) o fary

‘FAH &1 &ty faae w3k
fracmsdae ?

(A) =R

(B) ST

(C) Hured

(D). 1gH

fava =1 vgen A 9 ffe
Torg T O SR ST 7

(A) TaemEmT™m

(B) W&

(C) HISen

(D) T

&g GTHR J T TR & &9 § grEe
% fpa Wt 3 WWe-Ree w1 AW
TR R A AR 7

(A) TR IR

(B) WTIER

(C) T@a

(D) RS
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15.

16.

17.

18.

19.

Which district has been awarded
UNICEF, 2019 Award for effective

implementation of Swachh Bharat
Mission ?

(A) Kamareddy, Telengana

(B) Puruliya, West Bengal

(C) Latur, Maharashtra

(D) Rajnandgaon, Chhattisgarh

Which fighter aircraft nicknamed as
‘Bahadur’ retired from Indian Air
Force fleet ?

(A) MIG 21
(B) MIG 27
(C) Sukhoi
(D) Dornier

Which railway station of Jharkhand
has become 5500 Station to get free
Wi-Fi facility ?

(A) Khelari

(B) McLuskieganj

(C) Mahuamilan

(D) Tori

Multi Modal Cargo Terminal at
Sahebganj is situated on which
National Waterways ?

(A) National Waterways 1
(B) National Waterways 2
(C) National Waterways 3
(D) National Waterways 4

Which woman para-athelete was
awarded the Rajiv Gandhi Khel
Ratna Award for 2019 ?

(A) Karamjyoti Dalal
(B) Manasi Joshi
(C) Parul Parmar
(D) Deepa Malik
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(A) HERE, IS
(B) Efor, ufvaw swma
©) I, HENTE

(D) TSHIGTE, ST

WA 91 §1 < 98 | “SRIgU 3T
IIAT HIH TR oM Farfaa g ?
(A) 21
(B) fam 27
(C) ganR
(D) BffR

YRGS 1 HH G 108 RIF 9% 918
HT8 AL 550091 WIE §9 71T ?
(A) el

(B) HhwhITS

(C) wgaHeH

(D) 2K

e fora wedt uies s fife
forg Udte Sl W R @ 7
(A) T Jemm - 1

(B) TH™ Semm - 2

(C) TEH STomwt - 3

(D) TEH AT - 4

frm afgen Yu-uwelie ' 2019 &
Tftg Ml @t T TR 8 e
ferT R 7
(A) FE=fT g
(B) AT Shsft
(C) UTeeT TR
(D) @1 wletsh
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20.

21.

22,

23.

24.

As per National Air Quality Index,
what is lowest limit of ‘Severe’ air
pollution for PM,, ?

(A) 50

(B) 100

(C) 250

(D) 430

World Children Day is observed on
(A) 14" November

(B) 20" November

(C) 14" December

(D) 5% June

Largest producer of milk in world is
(A) Denmark

(B) India

(C) China

(D) U.S.A.

‘Maha Vajiralongcorn” was crowned
as the king of which country ?

(A) Cambodia
(B) Indonesia
(C) Bhutan

(D) Thailand

Who became first ‘Lokpal’ of India ?
(A) Justice Pinaki Chandra Ghose
(B) Justice Dilip B. Bhosale

(C) Justice P.K. Mohanty

(D) Justice Abhilasha Kumari
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TR AR TTar JEHTh % A
PM,, % T *Severe’ EIREAM Ed|
A Hm R ?

(A) 50

(B) 100

(C) 250

(D) 430

Torva 1ot feam gamen ST @,
(A) 14 TR

(B) 20 Tam=R

(C) 14 feamax

(D) 554

forva & gu %1 Aed w1 SEE B,
(A) ST

(B) Wi

(C) =

(D) &g TY 3l

‘g AR T TSN fohg
TR TS & €I H G ?

(A) HrIfEn
(B) sSRfRmn
(C) HeH
(D) ursels

W & Y& SIhYTel i o1 ?
(A) =i Tt 9 @iy
(B) =mamfd feetta ff. waa
(C) =ammfd dt. 3. Mgt

(D) (e srfirermst Hurd
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25.

26.

27.

Point P, is 8 metres to the West of
point P,. Paint P, is 4 metres to the
South of point P,. Point P;1 is 4
metres to the East of point P,. Point
P, is 6 metres to the North of point
P,. Point Py is 8 metres to the West
of point Py. Point P, is 2 metres to
the South of point P.. Then, how far
and in which direction is point P,
from point P, ?

(A) 4 metres to the East

(B) 4 metres to the West

(C) 2 metres to the West
(D) 2 metres to the East

Let X;, X,, X, X, and X be five

numbers such that mean of these
numbers is 10. If we add 4 in each of
first three numbers and subtract 11
from each of last two numbers, then
mean of new numbers becomes

(A) 10

(B) 12

(C) 8

(D) 6

Consider the three

statements :

(i) All the rooms on third floor of a
hotel have wall-to-wall
carpenting.

(i) No wall-to-wall carpenting is
blue.

(iii) None of the room on third floor
of the hotel has blue wall-to-
wall carpenting.

If the first two statements are true,

then third statement is

(A) False
(B) True
(C) Uncertain
(D) None

following
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2 | fog P, farg P, @ 4 . 2ftqur &y
I 1fagp,, P, a4 M. W
e | g P, g P, @ 6 1ft. 3w
fem & 2 | fog by, fog P, @ 8 A,
afeem e 3 2 | fagp,, Rg P, A 2
=t gfor fewn & 21 7w famg P, g
P, & foreft gt e ofR fopmr feam 7 & 2

(A) 47 qd it 3R
(B) 4. ufyam & 3k
(C) 2. gfvay i 31t
(D) 2. gd i 3

uH A O g X, X, X, X,

3R X =1 WTEA /3G (average) 10

| 9fe 79 veelt e demsti § 9 vom

H4NS T AT AT IR&H T 11

e @ W g8 ¢ GeEisi &1 sied

frafafaa g

(A) 10

(B) 12

€) 8

(D) 6

freferRaa o et w fmm =t

(i) TR b W g W aqeft o
AT R ARS HHT R |

(i) Treft oft S W o) =1 T
AT H T2 |

(iii) BRW & TR et W foreft off
H dar W A T w1 Awet H
HW LR |

afe g g1 Hod wEl € dl digy w2

(A) T

(B) &

(C) Iffyaa

(D) %8 &l
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28.

29.

30.

31.

If A is 30% more effective than B,
how much’ time will they, working
together, take to complete a job
which A alone could have done in 23
days ?

(A) 18 days

(B) 15 days

(C) 13 days

(D) 10 days

The wrong number in the given
sequence of numbers :

5,16,6,16,7,16,9
is

(A) 5

B) 7

<) 9

(D) 16

A wire can be bent in the form of a
circle of radius 14 cm. If it is bent in
the form of a square, then its area

22
will be (take T = 77‘)

(A) 484 sq.cm.
(B) 544 sq.cm.
(C) 121 sq.cm.
(D) 242 sq.cm.

The average of seven consecutive
numbers is 20. The largest of these
numbers is

(A) 21
(B) 22
(C) 23
(D) 24
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A A, B 30% U gem 2 | a9 9
T T ET TieToRt U 1 B F |
Tora oo o 9fe A oten 3T
wH R 23 fad s urad 2

(A) 18T

(B) 15f&

©) 13f=

(D) 10T
frfafRaa d@nstt & s d w7
T TG & -

5,16,6,16,7, 16,9

(A) 5

(B) 7

(C) 9

(D) 16

TH IR B, T 499, P gad
SIeTl 51 |hal & | Ife 38 T o1 &
JTHT H &TAT ST Al SHHT SFBS BT
o= 2)

(A) 484 sq.cm.
(B) 544 sq.cm.
(C) 121 sq.cm.

(D) 242 sq.cm.

TTd AR T 1 q1e (3ad)
20 % | 318 A god o< g anf
(A) 21

(B) 22

(C) 23

(D) 24
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32.

33.

34.

35.

Choose the pair in which the words
are differently related.

(A) Sheep : Flock
(B) Bee: Swarm
(C) Man : Mob
(D) Cow : Herd

Here kg. denotes kilograms. The
average weight of a class of 24
students is 35 kg. If the weight of the
teacher be included, the average rises
by 400 grams. The weight of the
teacher is
(A) 45kg
(B) 46 kg
(C) 50kg
(D) 52 kg

If the sum and difference of squares
of two positive numbers are 106 and
56 respectively, then sum of these
two numbers is

(A) 11

(B) 14

(C) 21

(D) 27

Consider the three

statements :

following

(1) Tanya is older than Tejas.

(i1) Ojas is older than Tanya.

(iii) Tejas is older than Ojas.

If the first and third statements are
true, then the second statement is
(A) True

(B) False

(C) Uncertain

(D) None of these
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(A) 9 : JU8

(B) AYHaE! : Jue (HHfRGIN @
re)

(C) e : ofig

(D) T : &

gl o . frefta star & fereimmm =1,

24 BT 6 Tk ST FH INGA T9H 35

forar 2 | Afe 3reTges %1 o9 ot S

Tz SIe At Sfiea 99 400 U1, §¢ ST

B, T 3TEATIh 1 G a1 2 7

(A) 45 T

(B) 46 f.mm.

(C) 50 fp.am.

(D) 52 ..

Ife G GATeHS AT < 91 I IS
106 3R 3=/ 56 &, A A1 GEAT3]
(A) 11
(B) 14
(©) 21
(D) 27

Frferfiga d ot @ femm =t
() a=, ASE AR |

(i) 3N<™, T TSR |

(iii) A9, AH A ST |

afe ygen 3R fe w97 5 € 9 gaa
U

(A) ¥ER

(B) IEAE |

(C) fafvaa? |

(D) 57 ¥ %ig &
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36.

37.

38.

39.

Daily in the morning the shadow of
building A falls on building B and in
the evening the shadow of building
B falls on building A. So in which
direction is building A to building B ?
(A) Eastern side

(B) Western side

(C) Northern side

(D) Southern side

Six children A, B, C, D, E and F are
standing in arow. B is between F and
D. E is between A and C. A does not
stand next to either F or D. C does
not stand next to D. F is between
which of the following pairs of
children ?

(A) BandE

(B) BandC

(C) Band D

(D) Band A

X and Y are brothers. R is the father
of Y. S is the brother of T and
maternal uncle of X. Whatis TtoR ?
(A) Mother

(B) Wife

(C) Sister

(D) Brother

In a class of n students, 30 students
play Football, 40 students play
cricket and 40 students play Hockey.
Also, 10 students play Football and
Cricket both, 10 students play
Cricket and Hockey both, and 6
students play Football and Hockey
both. If 5 students play all three
games, then n is

(A) 141

B) 89

(C) 90

(D) 100
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BET A § WIS &8 M AW &
qHY ‘Ma- 9" 6 BRT WaT 3 WIS
R, ‘g T Afpg e o
(A) T T

(B) ufvem il @&

(C) I HI T

(D) <f&w 6 T

B: ¥ A, B, C, D, E 3 F ws ufn 8
@R IB,FIMDHdEHRIE A
IMCHFITHRIA, TRFF I
TSI EARAD % | C, D % T4 @l
7€l 21 | 99 F #A 4 Q) o= % o9
dEe? |

(A) B3RE

(B) B3 C

(C) B3MD

(D) B3R A

X 3R Y WE-"g & | R, Y & fuan
21'S, THI 4TS 8 3 X ST HHT & a8
T, R <1 &&IT &' 2

(A) |

(B) Uit

(C) &

(D) g

s e fem 0’ B E, 30 S Heam
Werd §, 40 B forhe Weora & 3 40
B Biehl Weld & | 10 B Fea 31N
foncke Q1 @etd & | 10 B fopshe 3
Fh! QHI Beld & | 6 BT BIae 3N
Bih! aF1 ©eid 3 | 3fe 5 v i we
WeAd 2 dl “n’ < | 941 30T 2

(A) 141

(B) 89

(C) 90

(D) 100
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40. In a group of 37 boys, Shivam’s
position is _9“‘ from bottom, while
Akshay’s position is 12" from top.
The number of boys having positions
between Shivam and Akshay is
(A) 15
(B) 16
(C) 17
(D) 18

41. When it was 10 days old, a baby
elephant ate 5 candies. From then
onwards, its appetite grew, and each
day it ate twice the number of
candies it had eaten the previous day.
How many candies did the baby
elephant eat when it was 14 days old ?
(A) 70
(B) 80
(C) 140
(D) 160

42. IfB <Cand B <D <A, then which
of the following expressions is
necessarily true ?

(A) C<D
(B) D<C
(C) C<A
(D) None of these

43. Sharda starts walking towards South.
After covering 15 miles she turns
twice to her left, each time covering
15 miles before turning. How far is
she and in which direction from her
starting point ?

(A) 20 miles, West

(B) 15 miles, East

(C) 15 miles, South

(D) 30 miles, East
Series-A
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Th 37 Igehi & aifg H, F3eq %1 e
2 | et & TEiE 8T H W IR
Y IREaT 2 | 79 g ok srem & g
¥ foraA ofgeh! 1 T 8rm 2

(A) 15

(B) 16

() 17

(D) 18

Tk 911 g1fl 919 10 fea &1 ey se
5 et @13 | 39 fe T g v fem vt
QT @ ? | 9 98 are geft
14 T3 1 o1 a1 363 et i @rd 2
(A) 70
(B) 80
(C) 140
(D) 160

IE B <C3IMB<D<A, 7@
Fr=afefaa d @ =11 & sifysafs g
g R ?

(A) C<D

(B) D<C

(C) C<A

(D) g &

wIre 3 o feom & won I foma |
15 HieT 9T % 91 98 S 91 379 §7d
T 3R gH 91 15-15 fie Teft |
37, 9 AT T T | fhat g R
s frafend? ¢

(A) 20 Hie, ufvem

(B) 15+, i

(C) 15 i, iy

(D) 30 W=, g&
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44.

45.

46.

47.

48.

If A =1, FAT =27, then FAITH =
(A) 44 -

(B) 45

(C) 46

(D) 36

If CAFE is coded as 3165 and HIDE
is coded as 8945, then HEAD is
coded as

(A) 8514
(B) 5816
(C) 9156
(D) 8154

A watch gains 12 seconds every 3
hours. What time it will show at
10:00 A.M. on Tuesday if the watch
is set right at 3:00 A.M. on Sunday ?

(A) 09:58 AM.
(B) 09:57:08 A.M.
(C) 10:02 AM.

(D) 10:03:00 AM.

A man travels 2 km, turns left and
travels 3 km; turn left again and
travel 6 km. How far is he from the
starting point ?

(A) 4 km

(B) Skm

(C) 7km

(D) 9km

: 3.
The percentage representation of 718

(A) 0.75%
(B) 7.5%
(C) 75%
(D) 60%
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44.

45.

47.

48.

Ife A=1, FAT =27, FAITH =
(A) 44
(B) 45
(C) 46
(D) 36

Ife CAFE 1 diehice HH 3165 8 3
HIDE &7 Gihiaeh HH 8945 2, a9
HEAD &1 dishfdes |19 B

(A) 8514

(B) 5816

(C) 9156

(D) 8154

T T B3 gUE WG T 12 WS
31 Fepet It 2 | 9 8 T AISER
¥ f& 10:00 s ats & aHy =1 99
fegmuh afe 58 daam & f&7 3:00 =
qdiE W SR TR ?

(A) 09:58 AM.

(B) 09:57:08 AM.

(C) 10:02 AM.

(D) 10:03:00 AM.

e ared 2 o . werar B st R
T geat 3 Tl e @ o e d
I7$ T qed & a1 6 fh. . T=ar 2 |
o8y fag A fpafi @ 7

(A) 4Te.

B) 55l

(C) 7T%.H.

(D) 9 .1

%muﬁmmw@m?

(A) 0.75%
(B) 7.5%
(C) 75%
(D) 60%

Series-A




49. If2x+3y=5and3x—y=2,then
x+35y=7?

(A) 2
(B) 3
€5
(D) 6

Directions for Q. 50 to 54 : The following
questions have 4 options. 3 of them
have some association and form a
group. Find the odd one out.

50. (A) Sea
(B) River
(C) Ocean
(D) Swimming-pool

51. (A) Kolkata
(B) Mumbai
(C) Allahabad
(D) Thiruvananthapuram

52. (A) Hand
(B) Nose
(C) Heart
(D) Eyes

83. (A) Cello
(B) Guitar
(C) Flute
(D) Violin

54. (A) Thread
(B) Cloth
(C) Cotton fiber
(D) Seed

Series-A

49. aﬁ;zx+3y:53ﬁt3x—y=2,
ddx+S5y=2?
(A) 2

(B) 3

(€) 5

(D) 6

ﬁi?T: ¥. 4. 50@54—)%@33@73
TRIE UM E | SR v A @
W fhelt HR T w ¥ | o
3T Uk UE §941 & | 98 T N

Ve B, S 39 wHg A 9@ e,
IHHT FI |
50. (A) 945 (B) Tt

(C) HE1arR (D) drETeT

%ﬁ@ 51. (A) HidsET

- (B) T f
(C) 3TRTETE ;
(D) fereammagm :

52. (A) 7™
(B) I1=
(C) &
(D) g

53. (A) Ol

(B) fier
(C) Fxeft
(D) Frafe

54. (A) =T
! (B) ®9s1
! (C) HITg
| (D) ¥
i
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55.

56.

57.

58.

59.

60.

Select the odd one out from the given
sequence : .

B,Y,F,Z A
(A) B
(B) F
) A
DY

Select the odd group out.
(A) EG
(B) EB
(C) BY
(D) GD

Select the odd word.
(A) BEAR
(B) CEAR
(C) TEAR
(D) WEAR

Select the odd one out.
(A) MN
(B) NM
(C) OL
(D) ET

Select the odd one out.
(A) JKL
(B) GHI
(C) OPQ
(D) ILT

Find the missing number in the given
series from among the options :

5,11,23,47,95, _2
(A) 190
(B) 191
(C) 161
(D) 169
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55.

56.

57.

S8.

59.

60.

fafafga g@en § fam sew =
gfe :

B,Y,F,Z A

(A) B

(B) F

© A

D) Y

forem arar-gm w1 g |
(A) EG
(B) EB
(C) BY
(D) GD

firm g | gT |
(A) BEAR
(B) CEAR
(C) TEAR
(D) WEAR

fom 31am-3m 1 YT
(A) MN
(B) NM
(C) OL
(D) ET

o areR-gm 1 T |
(A) JKL
(B) GHI
(C) OPQ
(D) ILT

& T sfEen H T F F fow g
5,11,23,47,95,_ 2
(A) 190
(B) 191
(C) 161
(D) 169
Series-A




61. From among the given options,
select the correct option for
completing the sequence :

AT, BAT, FLAG, MOUNT, 2 _
(A) LION

(B) SEVEN

(C) LINEAR

(D) ELEPHANT

62. In the sequence given below, the
question mark (?) will be filled by
which of the given options ?

PQR, QRP,RPQ, 2?2
(A) PQR
(B) QRP
(C) RPQ
(D) QPR

63. In the sequence given below, the
question mark (?) will be filled by
which of the given options ?

A,B,D,G,K,N,P, 2
A) Q
(B) R
(C) S
DO T

64. Arrange the following words in a
meaningful order and select the
correct option :

1. Printer
2. Publisher
3.  Writer

4. Editor
(A) 1,2,3,4
(B) 2,3,4,1
(C) 3,4,2,1
D) 3,4,1,2

Series-A
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61.

62.

63.

64.

fow g famredt @ @ wdt foerew o4 S
JFH I U R ;

AT, BAT, FLAG, MOUNT, _2
(A) LION

(B) SEVEN

(C) LINEAR

(D) ELEPHANT

= & T spgen # yyarss g (7)
% T W HH FT I 3@ ?

PQR, QRP,RPQ, _?

(A) PQR

(B) QRP

(C) RPQ

(D) QPR

Frefeaiaa spaen & weraras fug (7)
o AT T T I ?
A,B,D,G,K,N,P, 2
A) Q k
(B) R

C) S

D) T

T T T T

o few T vigt ) wreles o W SafRE
Fifor va T fereg Tm Rt |
1. g5 2. YHIYH

3. W@

(A) 1,2,3,4
(B) 2,3,4,1
(©€) 3,4,2,1
D) 3,4,1,2

4. 9HMIch
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65. From a smaller unit arrange to the

66.

67.

biggest unit in the ascending order
and select the correct option :

1. Kilobyte
2. Byte

3. Megabyte
4. Terabyte
5. Gigabyte
6. Bit

(A) 6,2,1,3,5,4
(B) 6,2,1,4,3,5
(€) 6,2,1,3,4,5
(D) 6,2,1,4,5,3

Which of the words in the options is
arranged in the order of appearing in
the ascending order in a dictionary ?

1. GIANT
2. GALL

3. GALE

4. GENUS
5. GENIUS

(A) 5,4,3,2,1
B) 1,2,3,4,5
(©€) 3,2,5,4,1
(D) 3,4,5,2,1

If A is South of B and B is West of
C, then A is in which direction from
C?

(A) South-West

(B) North

(C) West

(D) South
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65. I THTS T BT B g I M 5

66.

67.

T3 i 3R Fed 3¢ Frmfefaa s
<1 TE! 5FA H TISU 3R T e he =
ST |

1. foemEme 2. Wge

3. HmETEe 4. WETER
5. fhmETge 6. fae

(A) 6,2,1,3,5,4

(B) 6,2,1,4,3,5

(€) 6,2,1,3,4,5

(D) 6,2,1,4,5,3

Fra fouw U vt F faepedi © @S-
41 freheq TIsgehIv & HUTTER R ?

1. GIANT 2. GALL
3. GALE 4. GENUS
5. GENIUS

(A) 5,4,3,2, 1

(B) 1,2,3,4,5

(C) 3,2,5,4, 1

(D) 3,4,5,2, 1

gfe A, BF e d @ 3B, C &

AR, A, cARrEiEnER ¢
(A) eftror-ufyem
(B) I
(C) ufeam
(D) e
Series-A




68.

69.

70.

Insert the missing number from
among the given options in the
question mark (?) to complete the
pattern.

(A) 10
(B) 11
(C) 13
(D) 15

Find the missing alphabet in place of
question mark (?) from among the
given options.

PIM]|Q

F|1C]|F

(A) R
(B) K
©) L
D) O

Find the missing number in place of
question mark (?) from among the
given options.

84 81 88

14 | 12 181 9 711

(A) 7
(B) 16
(C) 21
(D) 28

Series-A

[Cl40]

Ba

TEIINEGIINDS HLABEANE] TrINNGLIK] THANBSNED ¥ E DS

THNBOUNES TYUNEINBS NSNS TYUNIEINED

sasies

17

68. fmfafga 4 fou 7 fawedt o @

69.

70.

JaTEs T8 (7)) o T W 37 Fret
&1 {Td il |

(A) 10
(B) 11
(C) 13
(D) 15
R mym i wEEs g (2)F
T YT Sh-HT A AT ?
P|IM|Q
F|l|C|F
T 1T ]9
(A) R
(B) K
(C) L
(D) O
oA 9% (?) & WH WHE @
et 3wl ? wet fasmed wma w |
84 81 88
14 | 12 18| 9 2 111
(A) 7
(B) 16
(C) 21
(D) 28
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71.

72.

73.

74.

Find the missing number in place of
question mark (?) from among the
given options. '

? 1

16 | o

(A) 36
(B) 49
(C) 50
(D) 64

In the given sequence, find the
missing elements from among the
given options.

5E,7G, 9L 11K, _?

(A) 14N

(B) 13N

©) 13M

(D) 14M

In the given sequence, what shall be
the correct option in place of
question mark (?)

C5,F4,E7,H6, _ 2
(A) D7
(B) 9G
(C) G9
(D) F8

In the given sequence, what shall be
the correct option in place of the
question mark (?)

bC, cD, dE, eF, 2
(A) fG
(B) gH
(©) iJ

(D) fg
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71.

72.

73.

74.

T3aEH 8 (7) & ©H WHH o
T W ? T fopeq A & |

16 | 9

(A) 36
(B) 49
(C) 50
(D) 64

et sjwen # oW & = 7@ w5, R
o R4 |

SE, 7G, 91, 11K, _?

(A) 14N

(B) 13N

(C) 13M

(D) 14M

Trferfaa sfgen § yearas &g (7)
o T W T ST ?
CS5,F4,E7,H6, 2

(A) D7

(B) 9G

(C) G9

(D) F8

A= & T Een § e g (7)
% T W I G Y AT ?

bC, cD, dE,eF, ?

(A) 1G

(B) gH
() U

(D) fg

Series-A



75.

76.

77.

78.

79.

Which of the following acid is
present in vinegar ?

(A) Formic Acid

(B) Acetic Acid

(C) Lactic Acid

(D) Oxalic Acid

Which of the following is a non-
crystalline solid ?

(A) Diamond
(B) Graphite
(C) Glass

(D) Common salt

Which of the following pairs has a
mismatch between metal and its ore ?

(A) Copper-Copper pyrite
(B) Zinc-Calamine

(C) Lead-Galena

(D) Sodium-Dolomite

Assuming ideal behaviour, the
correct order of density of gases at
same temperature and pressure is

(A) Hy<0,<CH, <N,
(B) H,<CH, <N, <0,
(C) H,<N, <0, <CH,
(D) H,<N,<CH, <O,

Reaction of a metal with an acid
generally produces

(A) H,
(B) O,
(C) €O,
(D) SO,

Series-A
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75.

76.

77.

78.

79.

Tt B 9T I a7l 3T 8 —
(A) Biftfs 3

(B) Wfesh 3t

(C) Afdes 3t

(D) Mot It

frafafiga § 99 ifreei 3 gere
27

(A) &

(B) IwTE

(C) =

(D) | 99

Trmfefaa § feul og s oo

3 A A TR R 7

(A) ST — I IT3TEE

(B) fi — Homms

(C) & — A

(D) @ifsam — SietimTée
g i A §T, WA qOEH 3R
T W NGl % Tcd 1 GE) h B —
(A) H,<0,<CH, <N,

(B) H,<CH, <N, <0,

(C) H,<N,<0,<CH,

(D) H,<N,<CH, <0,

T % WY I I AUGHA B W
qmTE: it g feed R 2

(A) H,
(B) O,
(C) CO,
(D) SO,
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80.

81.

82.

83.

84.

Which out of the following are called
the states of matter ?

(A) Water, Ice, Gas

(B) Solid, Alcohol, Oxygen
(C) Wood, Petrol, Natural Gas
(D) None of these

What is Sublimation ?

(A) Conversion of solid to gas
(B) Conversion of liquid to gas
(C) (A) and (B) both

(D) None of these

Which of these are arranged in order
of increasing density ?

(A) Iron, honey, water, wood, air
(B) Air, wood, water, honey, iron
(C) Air, water, honey, wood, iron
(D) Iron, water, honey, wood, air

Evaporation causes

(A) heating

(B) increase in temperature
(C) (A) and (B) both

(D) Cooling

According to the Law of Gravitation,
every object attracts every other
object with a force which is

(A) proportional to the product of
their masses and acceleration.

(B) proportional to the product of
their masses and inversely
proportional to the square of the
distance between them.

(C) proportional to the product of
their masses and inversely
proportional to velocity.

(D) None of these
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80.

81.

82.

83.

84.

fafefga o @ forl verd & sraemd
FHE A8 ?

(A) U, 9%, A9

(B) 34, Y4, ATafis

(C) w1hel, Ygid, Jafifs iy

(D) 378 4 HI3 T

FATH TR 7

(A) 39 1 A9 T YR
(B) & T i1 H TR
(C) (A) 3 (B) Tl
(D) 378 A HIE T

Y O forHeh! O & S¢d A | 1@l
TR ?

(A) ©lie1, ge, I, Tehel, gal

(B) &1, A, U, V&S,

(C) &a1, U, Ige, S, &g

(D) e, urt, WIgg, ihel, g

STHIHTOT 6 HIOT

(A) AU R |

(B) araw H gfg B 2 |
(C) (A) 3 (B) g
(D) 3STEETE |

TECTRNY % FRmER Tl @ e

% S T ATHYT oA :

(A) 3Teh SEWTHIT I O = TOMAHA
o GHTYT BT 2 |

(B) & TEHHI % PHGA &
HIAT T 3 i I gl &
1l o ATl Bl & |

(C) & oMMl & TTHEA &
THEAT 3 ST & ShATITd
garg |

(D) T A H13 T8

Series-A




8s.

86.

87.

88.

89.

The value of acceleration due to

gravity ‘g’ becomes

(A) Greater at the equator than the
poles

(B) Same at the equator and the
poles

(C) Greater at the poles than the
~equator

(D) Negligible at the poles

The weight of the object on the earth
is

(A) 6 times its weight on moon
(B) same as its weight on moon
(C) 1/6 times its weight on moon
(D) None of these

What happens to the force between
two objects if the masses of both the
objects is doubled ?

(A) The force is invariant.
(B) The force is doubled.
(C) The force is tripled.
(D) None of these

What is an alpha (o) particle ?
(A) Helium nucleus

(B) Proton

(C) Positron

(D) Neutron

One nanometer is equal to
(A) 10° cm
(B) 108cm
(C) 107 cm
(D) 10%cm

Series-A
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85.

86.

88.

89.

oY & ‘g’ HIAH

(A) Torgaa ga w gai it sE =

TR |
(B) Yol I fergerex W @M Bl R |

(C) gat W fayaaga i e ST
FaTe |

(D) §al T AT0Y % SIS BT 2 |

T RIHIR AR
(A) TgHT T 38 VR ‘6’ 01
(B) <gHT T 35 W & FEK
(C) ZHT W IHeh TR  “1/6” 70N
(D) 3 A i3 T

gfe 3 IEq3T T GRHH Q[T L TS
I A 3T 19 TA BT RTEATR ?

(A) o FHUfEida EaT g |
(B) ¥ ST I 1 @ |
(C) sa A S g |
(D) 3 ¥ % &

T (o) FURTE ?

(A) giferm e

(B) St

(C) wifsigH

(D) g

T A &R |
(A) 1029 1,

(B) 1081,

(C) 1077 §.1.

(D) 106 F.1,
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90.

91.

92.

93.

94.

95.

The number of chromosomes in
human sperm is

(A) 21
(B) 22
(C) 23
(D) 24

The basic unit of life is
(A) Organ

(B) Cell

(C) Tissue

(D) Enzyme

Auxin is a/an

(A) Phytohormone
(B) Animal hormone
(C) Enzyme

(D) Vitamin

The life span of Red Blood Cells in
man is

(A) one month

(B) two months

(C) three months

(D) four months

Penicillin was discovered by
(A) Leeuwenhock

(B) Alexander Fleming

(C) Jenner

(D) Correns

‘In-Vitro’ fertilization is
(A) Fertilization inside the body
(B) Fertilization outside the body

(C) Fertilization inside or outside
the body

(D) Unsuccessful fertilization
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90.

91.

92.

93.

94.

95.

T YhTY] H TR S S e @ —
(A) 21
(B) 22
() 23
(D) 24

St 1 el 31 2 —
(A) &

(B) whif3rht

(C) >

(D) T~ireH

e g —
(A) IS EEH
(B) g gHH
(C) ot

(D) faerfim

AMT | e SRR ket &1 Sfaw
TS BT R —
(A) T HEAT
(B) & &M
(C) A
(D) IR HEHT

et <t @i i -
(A) TR 3

(B) ToiTirst wift &
(C) S RA

(D) B3

F-og) Fr=a g e -

(A) TR I feed

(B) YRR & wrg fu=A

(C) T & 3T a1 9 FHE off
ELEC]

(D) =% fF=a

Series-A



96.

97.

98.

99.

100.

The term Linkage was coined by
(A) Morgan -

(B) Mendel

(C) Henking

(D) Darwin

‘Suicidal bags’ of cell are
(A) Mitochondria

(B) Ribosome

(C) Lysosomes

(D) Golgi body

In the process of photosynthesis,
plants utilize

(A) Ammonia

(B) Nitrogen

(C) Oxygen

(D) Carbon dioxide

The number of bones in Human
Skeleton is

(A) 102
(B) 106
(C) 206
(D) 202

Who became the first ever Indian
Cricketer to play hundred T-20
International Cricket match ?

(A) Harmanpreet Kaur
(B) Rohit Sharma

(C) M.S. Dhoni

(D) Mithali Raj

Series-A
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96.

97.

98.

99.

100.

FhT-Hrewu 6 frar § N9 Ty
HAE -

(A) T

(B) TEgISH

(C) ieretsH

(D) HIeH ST5- 1SS

MG Shepret § AIRE! i GET Bl & —
(A) 102
(B) 106
(C) 206
(D) 202

HH gENLH TH G T-20 g
firhe B9 Wen 9 R foRehe
fgemrdi = ¢
(A) TS R
(B) Ufga wmi
(C) wA.wE. gl
(D) forareh T3
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